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One of the following is an incorrect sequence with respect to
the rule, Development follows an orderly sequence’.

1. Alphabet — Words - Sentences

2. Addition — Subtraction — Multiplication - Division

3. Baby teeth — Permanent teeth

4. Speaking — Listening — Reading — Writing
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According to Kohlberg the characteristics in post conventional

Morality

1. Establishment of Social order

2. Determining right and wrong by results

3. To think that everything that fulfills his needs is right
4. Want to follow universal moral values
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The Characteristics of Early Adolescent stage

1.

= DN

Stability of physical changes

Criticizing the community

Stay calm

Dealing consistently with heterosexuals
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According to the Erikson the stage where individuals idolize
and imitate others

1.
2.
3.
4.

Childhood
Play stage
Early Adulthood

Adolescence
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Universal grammar theory is related to

1. Skinner

2 Bandura
3. Chomsky
4 Galton

2_eusenmefll Qevddevor GHMLUT® (Universal grammar
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The process to forget the painful things, failures, insults and
experiences is

1. Projection

2. Repression

3. Regression

4. Compensation
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The father of mental health movement

1. Bernard

2. Gates

3. Clifford Beers
4. Jersild
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Persons with this type of thinking will get good score in tests
related to creativity

1. Concrete thinking

2. Abstract thinking

3. Associative thinking

4. Divergent thinking
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Nagalakshmi makes friendship easily with new persons. This
type of intelligence is

1. Social Intelligence

2. Mechanical Intelligence

3. Abstract Intelligence

4. Concrete Intelligence
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In an experiment on ‘studying the influence of glucose on the
activeness of the student’, the variable ‘activeness’ of the
student is

1. Dependent variable

2 Independent variable
3. Intervening variable
4 Uncontrolled variable

‘Dnevoreufledt  amEMILLTeTT  5g  GeEpsGamertlest
eflemerTeme Opi6Y QFwuwD’ LfiGemgemesrudest
Lomevoreurfledt S&mISMILIL] MM eTedTLIS)

1. &b LM

2.  &mgng Lomm)

3. SNISSLG

4.  sLEUUILOMD LT



1.

12.

This law describes the tendency to perceive objects that are
close to one another.

1. Law of Continuity
2. Law of Proximity
3. Law of Similarity

4. Law of Closure
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“Any relatively permanent change in behaviour that occurs
as a result of reinforcement and practice”. This definition is
related to

1. Personality

2. Memory

3. Learning

4. Development
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14.

Identify the wrong statement with regard to emotions

1. Children learn emotions by imitation

2 Children learn emotions by conditioning

3. Children are born with the emotion of fear

4 Along with attaining physical, mental maturity children

get emotional maturity.
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The type of learmning curves occur when learning material is
initially very complex, gradually becomes easy and at last
again they are complex

1. Positively Accelerated

2. Negatively Accelerated

3. ‘S’ shaped

4. Typical
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This theory states that ‘the similarity of keyboard in type
writer and computer makes a person who knows type writing
can learn computer easily’

1. Theory of formal discipline

2 Theory of Identical elements

3. Theory of generalization

4. Theory of ideals
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According to Vygotsky the following is an example for higher
mental process

1. Questioning
2 Comparing
3. Identifying
4 Synthesis
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Identify the correct pair

1.
2.
3.
4.

Cognitive domain - Receiving
Psychomotor domain - Manipulation
Cognitive domain - Characterization

Affective domain - Analysis
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1.
2.
3.
4.

SINSMEST SMIT SH6MMLD - EILIM)SH6D
2 o1 QWSS ST SH6IMLD - ENSILIMEHSH6D
SINSMETT ST SHEIMLD - LIGTOTLITG60

2 euoTT&d) &M S6ND - LIGSSHTUISHE0

Secondary need among the following is

1.
2.
3.
4.

Air
Temperature
Exercise

Clothes
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20.

The concept that formed in children between age group of
3 -5 years.

1. Time concept

2. Money concept

3. Colour concept

4. Beauty concept
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An abnormal forgetting that can be occurred from mental or
physical trauma

1. Amnesia
2 Hallucinations

3. Hysteria

4 Schizophrenia

2160 fPwnerr, wewr fHumer  GLPLILGSTED
GaMedTMILD HEFNGHMTEO0T DM ET6ITLIS)

1. BemevTefiLpLIL|

2. @60 ewm@eT S d

3.  Slssaan

4.  DeUTEHWSE)



21.
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23.

The concept ‘Learning disability’” was introduced by
1. Samuel Kirk

2 Piaget

3. Vygotsky

4. Karl Rogers
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Meaning of the file format ‘.docx’
‘.docx’ G&IMLIL 6UIQEUSHET SILITIH6IT
Word document

Word star document

Microsoft word open XML document

.

Microsoft plane text file

‘NCPF’ stands for

‘NCPF’ et6o1LIg)|

1. National Council of Primary Frame work

2. National Curricular and Pedagogical Frame work

3. National Curriculum and Primary Education Frame
work

4. National Curriculum for Policy Frame work



‘Class Room is a miniature society’ these words are stated by

1. Kasturi Rangan
2. Aristotle

3. John Dewey

4, Rousseau

‘AGLUDD M A Fepsld’ eent 6\sMeflgseut
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3. aameor Bull
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According to ‘RTE —2009” ‘Elementary Education’ is
‘RTE—2009’ 631 LIlQ, “6\&TL&ES S6v6fll” et6dTLIg)

1 1%~ 5" Class
2 3™ _ 8" Class
3. 18— 7™ Class
4 1% - 8" Class

‘ADHD’ stands for

‘ADHD’ eréttLIg 60T 6fifleungasLd

Attention Deficit Hyper active Disorder
Arithmetic Deficit Hyper active Disorder

Attention Deviation Hyper active Disorder

Ll .

Attention Disorders in Hyper active Disorder



27.

28.

Author of the book ‘On memory’

1.

2
3.
4

Kohler
Koftka

Tolman
Ebbinghaus

‘On memory’ 6T60ILD L|§SHS5608 Swibnjluieurt
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‘ABC’ card is used for

To record the student’s family background
To record student’s health status

To store credits earned by student from online and
distance mode

To record the transactions by students from online and
bank
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30.

Reading disability

1. Dyslexia

2. Dysgraphia

3. Dyscalculia

4. Dysphasia
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One of the following is ‘Explorative Skill’
1. Predicting the reasons

2. Having self — confidence & faith
3. Thinking creatively

4. Estimating

SLpSS6TLEUDNNED ‘DbTMUISH60 Hmedt

£

1. SNJERIhSEN6T 285860
2.  getieorbLigens MHMID HLDLISHmS
OLDBIHSS6>

3.  Op555IMmetT Shsenen
4.  wHAGsO



31.

32.

S&ESTEYID LSS LIgss QSTESHSLILILL
efleomeflhg efMemLwerdfl.

LISSILILIMLIQED (LpedemeoL M B Slieuierefled nuigmul
SmUug  Gumed,  LDHIEDISHSTEHF  SllQuiereiled
ouflwsml 782 &6t 6\&TeurBeTens. MLl
LIMQUIEUT LDMTRIGIY LDIHSEOTTT Sh6uI.

USSILILIMIQED GSDDHS SQEHENET CISHTETOTL [HIT6D

1. LD&6DISSHMTEHE]

2. (LpeLemELLILITL (B

3. 6UB®HE euTemL

4, SMlehILILM-B

SDEFHTEYID  USHDWIL LIS,  OSTESSUILILL
efleormefihG efMemLwierfl.

(LPEEUTLILITIQUIMIT  6T63TENILD  &FLDETOTLILIGO6UT  DH(HIHISHE0E
G\ELIL| 6IITEDID [HITEWED  HQLILIEDLWITSHS 6\&HTe0T(®
s g, Q(LDSELD, (EHIT6UTLD 6T60TD
PLIOWIMIHETHEDETULD 222 6\euevoTLIME 61Tl G60
efletsHwieTaTnii.  SipSHenenTs  Feuelenedim (b
eflwumenr QFwiHuilemenr SpAflwir saplujemerm.

(LPEWEBTLILITIQUITIT S|(HSHEW60T Sa6\T6iTm)
FoM)IL|6ITerTIT.

1. (P IHSH60T

2. S(mLmed

3. L9LDLD6BT

4. Sleuedt



33.

34.

Spssneyid  OFWenetl  Lisg.  sfemellhG
eflemLwierfl.

DS SLDewD Sibley Q&I
LDLEWLD EDWSHEISHT EFSSHIG6ULD.

SUumLedled ‘LD’ 6TetTLISENT CWIMIHET

1. C\LICTOT 61T
2. O6T0TSH6IT
3.  GLHOSSET
4.  apBGWNS6IT

SLD&SME|LD LIML 6m6vLl LIRSS, efleormelH S
eflemLwierfl.

SMiISGe0C 60mIGsBWINT 6\5UIe (LPpevoTGLT?

STUIELIETOTC6T0T W6DOBETT? HLDEHMES, SHHIEWS:
O i oeob EILITC -

LDemevtefl QWIM(HS SHewwiigemioll LBGSS Geueuories

GHSTEPID LIMLEYISHGSL 6IIMHSSLDTE SH6WEOLIL|
1. efl(Bs6m60

2. SHIQemLD

3. O6T0T6WLD

4. 6\LI6T0T6MLD



35.

36.

LFDFLILIGFED - 6T60TLIS| Q6UCUEWS BeW6TTE

6)&6060ITGLD

1. e1Brflemevor

2.  Cmrflemesvor

3.  esmlufemevor
4. Sis:z5Hemevor

LULIT&HeMS 6WWenT  (LpedTesflemeoll WD
SiempLILG Beueuens GCeubmiemip

1.

L

@HSMD CeubmiemLd
BTetTSHMD GeubhmienLD
eILLMD Geubmiemid

Spombd Geubmiemip

1oY1119]19)



37.

38.

39.

Sp&ETEID  SapmisemeT sHeuefl. a5 &f?
S6um|? SHeuorGLIlQ.
gabm| A. 6[DSSISHH6T @6TCmm HeoGeum Csgg|

SMDEUG)| W&

samml B. Qg @bBg 6UenSLILIGBLD.

1.
2.
3.
4.

sgabm A seuml, Bsamm s&ifl
sabm A WHOmIdD B &l
gadmi A HOID B seum)
sgapml A &f sabm B seum)

COILIHEMDSHGSLD JenerTs FIMIEMIDHESLD FHSHIHLD

&[HLGLD HLLEWOTS 560

- 85&DLuneiled b6 Sievfl

1.

L

g5855 2 (HeusH Sieufl
Geumiemid Sievofl

1n9g GWMlHe0 Dievofl
TBS5SHSHHT (B 2 6UemD HHeuofl

‘M6’ ETENILD EIFTELEOIETT YT (HEIT

1.

Ll S

HEM6D
LI6mS
GG

Gr60LD

oSl



40.

4]1.

42.

43.

WSS - B56\HMemaHE C\FTevened 6fiflggis Sevor.

1.

S60T6ollSSLOD, EOLBSLIID, C\FHSLILD

2. Buweo, PewF, [HILSHLD

3.  OIm, OWM®BET, GeSTLLD

4.  Gsg, Gamp, LIMETOTIQUIT

SLPSHSHTELD eflemewT LDIL|& eaanmaerfleo

SOUDTETTENSS SH60TBLIIQ.

1.
2.
3.
4.

SpeOL CNBWISITIT
Sa6WL (LPEMLIBSITIT
WNISS Sedroredt
Sy eflCLm

HEVEHEIFU] ST UIHEHEWSH Fad I

eTenilD LIMLed euflselT GLbOUDD HiTed

dleoLILdsmLb
EUEMEITLIMTLIS
LD60BfIBLD&6m60
B60GaH

SMDINEemIs  &H6v6fl SH6voT HMHSEUT 61637 LDETTSMIL
LML LQULIGNIT

1.
2.
3.

SHewSL ewrflwim
OIM\EHIT Di6ToT6ToTIT
p. SHGEOMHS

em6l. GaHmUmeLE6EUTLS



44,

45.

46.

47.

smbSwisst Qeufls Sie  Bsdled BEHS S
&he Geustor@eIetTm) efpLbLIeormT

1. LI

2. 2 .Geu &MOIBIST
3.  UMISSTF6sT

4.  [BMD&SHE0 GHefEhIT

‘Sisagildl’ eeb mrewed Guibmweur

1. ST g
2. &e6flevof]
3. HeNwigsr
4. LDITLD6TOT]

‘\FmevelletT E\FELEUT’ - 6T60T HEWLPSHSLILIBLIGUIT
1.  &m.ei.s

p. SUTSITEEUTITIT

10.G&. SDLITHITSIT

Sm.19.C58)

L

‘Oifleflweonfiepi’ - @Farsmevensoll LIMEE WSS
SemLLILIZ)

L Sideflwed + SMepit
2. Sile + SIMep

3.  Sieflwed + eomlehit
4.  Simsflwed + SMepiT



48.

49.

50.

51.

SLDSSTETTLITTOUDMIET HSM6WETTEHS FTETTMMTEUT)

1.
2.
3.
4.

LD6OT60T60T
LD6TOTLY(LD
LDML&mUS

LogoSil

‘Beliit’ eT6tTLIG BUCALFHWSSH SMHGSLD

1.

L

SHE0T60LD
(pedTevflemen
O\FWIMHENS

LLTSH6MS

‘SUIPEWDTY’  elemD  6\FmeLSEGIL LTSS

SDlerey

. a4l
2

2. 5 l
2

3.

4.

aLownfl seiy, KWn ewnfsefeo Qmbs eubs
SLILPl6L S bOLMILD C\EFMH&EM6IT Seueunm)

SleLPLILIT

1.  Sasmeo

2. 6IL6\EmeL

3. e feasgmed
4. BemsgeIETeL



52.

53.

54.

OWIMHSSIS.

= LN

SO eTWsGISHH6fed Qb 6WwsHSNES LUGED oot

1. @eweoehdl - . wWsHGLIMED

2. DEha - O SHemLLGLMED
3. [Bevedr - 8. apbhmiGumed
4. emLDUIED - F. QewLUGumed

1-m, 2-8), 3-31, 4-3}
1-8, 2-1, 3-3, 4-3
1-r, 2-8, 3-3, 4-3
1-31, 2-3, 3-8, 4-F

TS 606NV

1. 2 ulewssl
2. QWWeOWIWPSE|
3. bW sl
4.  SIMEOWIDSS

‘LietorLy’ eT6dTLIS B6UEUeNSHS GSHMILIEYSILDTGLD
1.

L

BOLEEVSTLIT
EUEDTEVSITLIT
2 ulngESLIT

GIDEBTESITLIT



55.

56.

57.

SlRLILIDLE PHMetTa6rlled (LPSETTEMLDWITEITS)

1. GaLL6v
2.  Gusgeo
3. LI5S0
4.  eIDGIFHE0O

Sp&FTEID Sapmisener seuefl. g FM?  ag
S6UM)|? S6oorBLILQ.
gabml A: (PSHEOMD 6UGSLIL| LDTETTEUTHEHEHS SbILDLI

Bemeoudlev &G GeuetoTIQUIS)
GUEHSSLOILD

sapm B: @pevorLmbd eugLlegd Gu&ss SUIGL
&MLI58 Geuetor(BLD.

1. sgapm A sam sapm B &l

2. &sapm A &sfl sapm B sam

3. sapm A, B &fl

4. sapm A, B sam

LomevoTeuSefletT  LDevTeueMTESSEGHML  LIMLMKISEmeTL
ueo uGdsemsl LMgss GOHUILL STSSHGST
SlausemsGal &MUG SLDAPEHMHWITELD

1. eflememum-® (Lpemm

BieLIL| (PewD

RLILIEDLLIL| LPemM
Q\FWevaINS SHMHMED (LPedM

L



38.

59.

60.

‘@ UL @ImuIiTD 6FTH&HEHSES SenernUTGLD’
eT6oTLIS)|  SLDEWDMLPILI LILPEIDTLOWINEGLD

1. AL V)
2. SO

3. HCI&HSLD
4.  &eurd

QEUCGUMT(H  LDMEWTEUIHD 6% Slemeflb@L  LmLLI
ounGeTle) OUDM SHSHSOMISHET  CIETLMSWLD,
W sevell Geos@sefledo 6mbs Sletey wpesTGarhmLd
DNWLIBS(HHBETMET ETEITLIEDSU|LD HW 2_G66us)
1. HNIG

2. &evefl GBEM&HSLD

3. UM [BI60

4. umsPHLLID

GWDLOILI LUIDDTWI6YS Fo.LSHH60T fmuys
S6itenLns6rfled  Geveornsg)

1.  Benga\Fuiged

2. LSl6BT60T(E6HF60

3. umUuadset CaHiHes5BSHSH0

4. seflGeuss SHMMEd



61.

62.

63.

64.

Identify the grammatically correct sentence.

1.

2.
3.
4

Parents work for there children
Parents work for their children
Parents work there children

Parents works for their children

Identify the correct verb for the sentence:

“Santana a singer.”

One of the following is the term for a person who is all —

.

18
are
am
be

knowing:

1. Omnipresent
2. Omnipotent
3. Omniscient
4. Omnifarious

Identify the modal verb in the following sentence that

expresses advice: You see a doctor if you’re feeling

unwell.

1.

2.
3.
4

would
must

could
should
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66.

67.

68.

Choose the correct capitalization for the name of a diety:

1. god

2 God
3. GoD
4 goD

The following is the correct practice when formatting
dialogue:

1. Use a single paragraph for all dialogue.

2. Place dialogue tags at the end of each sentence

3. Start a new paragraph each time a different character
speaks.

4. Use parentheses to indicate each character’s speech

Choose the sentence in the future continuous tense:
1. They will arrive soon

2 She is eating lunch

3. He will be sleeping at that time

4

I have finished my work.

Choose the structure for a negative sentence in the simple past
tense:

1. Subject + did not + base form of the verb
2 Subject + do not / does not + verb

3. Subject + will not + verb
4

Subject +1s / am/ are + not + verb + ing
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70.

71.

72.

Identify the type of sentence: “Come home as soon as you

can.

s b=

Declarative
Imperative
Interrogative

Exclamatory

He wanted to go to the park.

Identify the correct transformation of the simple sentence
above into a compound sentence:

1.

2.
3.
4

He wanted to go to the park, because he went there.
He wanted to go to the park but he stayed home.
He wanted to go to the park, so he went there.

He wanted to go to the park, although it was closed.

Identify the type of clause that adds information to the main
part of a sentence:

1. Main clause

2 Dependent clause

3. Independent clause

4 Simple clause

The company offers excellent benefits. , many

employees stay with the company for years.

Choose the option that fits the blank.

1.

2
3.
4

Nevertheless
In contrast
Although

As a result



Choose the correct sequence of the words in which they occur
in a dictionary.

1. difficult

11. dinner

1ii. difference
1v. demonstrate
1. 1v, 11, 1ii, 1
2. 111, 1, 11, 1V
3. 1v, 1ii, 1, 11
4, 11, 1, 111, 1V

Choose the correct spelling of the word.
1. hysterical

2 histerical
3. hystericle
4 hystaricle

Identify the correct example where the indefinite article is
used with few and little in a positive sense:

1. I have few friends.

2 I have a little time.

3. My brother has few friends.
4 My brother has little time.

They cancelled the game the rain.
Choose the correct preposition that fits the blank.
1. contrary to

2 except for

3. because of
4

in case of



77.

78.

79.

80.

“And now the forest is deathly still as though it were midnight.

Choose the synonym that means “still”.

1.

2
3.
4

But more importantly, it is a tribute to some of the bravest

moving
active
busy

quiet

Indians.

Choose the antonym of the word ‘bravest’.

1.

2
3.
4

unadventurous
dashing
heroic

courageous

The following is the indirect speech form of:

He said, “Alas! I am undone.”

1.

2.
3.
4

He exclaimed hopefully that he was undone.
He exclaimed sadly that he was undone
He exclaimed that [ was undone.

He exclaimed with joy that he was undone.

Choose the meaning of the phrasal verb ‘bring up’

1.

2.
3.
4

to lower or decrease something
to avoid discussing a sensitive issue.
to neglect someone’s needs

to raise a topic in conversation



1.

82.

83.

A: Who cuts Brain’s hair for him?
B: Nobody. He cuts

Choose the option that fits the blank.
1. Brain self

2 myself
3. himself
4

each other

Identify the interjection that would be appropriate to express
pain.

1. Oh!

2 Ouch!
3. Yay!
4 Hey!

Read the following passage carefully.

India’s art and architecture reflect a rich historical legacy. The
intricate carvings of temples like Khajuraho showcase ancient
craftsmanship. The vibrant murals of Rajasthan and the
traditional Madhubani paintings from Bihar highlight regional
artistic styles. From the majestic forts of Jaipur to the serene
Buddhist stupas, India's architecture tells tales of its diverse
cultural history.

The Khajuraho temples are known for their

1. modern design

2 vibrant murals

3. intricate carvings
4 Buddhist stupas



84.

85.

86.

87.

Read the following passage carefully.

India’s art and architecture reflect a rich historical legacy. The
intricate carvings of temples like Khajuraho showcase ancient
craftsmanship. The vibrant murals of Rajasthan and the
traditional Madhubani paintings from Bihar highlight regional
artistic styles. From the majestic forts of Jaipur to the serene
Buddhist stupas, India's architecture tells tales of its diverse
cultural history.

Identify the type of artistic style highlighted in Bihar:
1. Murals

2 Carvings

3. Forts

4 Madhubani Paintings

Identify the foundational skills for effective communication:
1. Reading and writing

2 Grammar and translation

3. Writing poetry and prose
4

Listening and speaking

Identify the activity that involves rewriting sentence for better
comprehension.

1. Note taking

2 Paraphrasing
3. Predicting
4

Role writing

Identify the method that emphasises oral communication and
natural learning process:

1. Grammar Translation Method
2 Direct Method

3. Bilingual Method

4 Situational Approach



88.

89.

90.

Identify the advantage of CLT.

1. Emphasis on translation

2 Boosts confidence in language use.
3. Focus on grammatical accuracy

4 Suitable for large classes

Choose the best option that describes the position of English in
India.

1. English is culturally and psychologically dominant

2. English has multifaceted acceptance but limited cultural
influence.

English is solely a domestic language

4. English is rarely used for international communication.

Choose the best option that describes a general objective of
teaching English.

1. Enable students to learn only grammar rules.

2. Enable effective communication using English as a
medium.

3. Focus solely on written language skills

4. Teach English literature exclusively.



91.

92.

93.

(—3x2y+ 4xy* — 5xyz) + (3x —4y+ SZ) =

1.

2
3.
4

—-Xyz
xXyz

Xy

All the three medians of a triangle

1.
2.
3.
4.

Always lie in the interior of the triangle
Always lie in the exterior of triangle
Some in interior and somein exterior

Always coincides with sides of the triangle.

RMH WPHCHEMIGHET eLpetim)] HBSHCHTBSHETTE S

1.

eTLOILIMWDGID (P&HBHTetusHetr 2 6TGarr
H6WLDW|LD

EILELIDSHID (LPSHEHTEITGHET S 6ueriBL DHemLDULD
fleo 2 _emBGemuid dlev AeuefIGWD SiewLbujid
ETLIOILIMPGID (LPEHBHTETSHEI LISSHMHISEHHE
Q65T SHeWLDU|LD

The angle of rotational symmetry of a parallelogram is

R PewewrsIsPHetT HLped FDFFTemDUleH GSHTeToTLD

1.

2
3.
4

90°

180°
270°
360°



94.

95.

The probability of getting a number which is neither prime nor
composite when a die is thrown is

QRMH USEDLEDW 2 (HUGLEUNE LIST 6T600T 60608
L@ 616001 H6D6VITLDED SeWLLILIGMSTEST [BHLDSSH6Y

L2
6
2. 1
3
3. 2
2
4. 2
6

An item was sold for 540 at a loss of 10%. Its cost price is
(in Rs.)

Q@ GWM@Henmeodl 10% HBLLSSHILET B40 &S
efihsLLLLG) eesfled SOwmperfledr eurmmidw
eflemev  (erpLIMUI6L)

1. 486
2. 594
3. 600
4. 640



96.

97.

Amar purchased 2kg 500g laddoos, 1kg honey cake, 750g
Jamoon and 250g Jilebi. Total weight of eatables he purchased
is

1. 4kg 500g
2. 3kg 500¢g
3. Skg 500¢g
4. 4kg

I etevtueut 2 HGeor 500 Hgmb Beol B&6T,
1 8.8. Goetr C&s, 750 SIMD gMLP6dT LDHMILD
250 Sgmb 2CeoLNemw GUMTRIB6TITT 6T60fl60 DU
anmmSw eofllserflesr 6WDngs eemL

1. 4 &B8eom 500 Hgmb

2. 3 #Ge0m 500 Hgmibd

3. 5 &Ge0om 500 SFmb

4. 4 HGBeorT

In adjacent figure y+2x = .
&I@éﬁgﬁ 6T IJL‘S'QGi) y+2x=__
1. 90°
2. 180°
3. 135°
4. 45°




98.

99.

100.

Juveriya bought vegetables weighing 10kg. Out of this, 3kg
500g is onion, 2kg 200g is tomatoes and the rest is potatoes.
Then the weight of the potatoes (in kg)

2zCeurflum 10 HBeom eTemLUETET SHMUIBNSHEDEIT
eunriieotmt. Heupnieo 3 HGeom 500 Hmb
QeumismuD, 2 &Geom 200 SIMb S&smerfl. GLDsYILD
LBsLpeiTeTemer 2 (HemensESLphIE 6Tevfled
2_[HewensSLphifes elemL (&.8.- 60 )

1. 4.3
2. 53
3. 4.03
4. 5.03

Number of intersection points of two intersecting lines is
Qoo ellSHesmeTEBD  CanBaeflest  Qeul(BLD
yeiterfleerflesr erevorevoflend

1. 0

2. 1
3. 2
4 3

On certain sum, the interest paid after 4 years is Y600 at 5%
rate of interest per annum. The sum is (in Rs.)

®m &MUl e\grensullstt W& 5% eulle eigb
4 OTTBHEHHS \FNSSW eullp I600 erevfled
OiFeo (empumuilev)

1. 2000
2. 3000
3. 4000
4. 2400



101.

102.

103.

In AABC, If AB =4cm, BC = 5cm, CA = 4cm then it is
1. Scalene triangle

2 Equilateral triangle

3. Isosceles triangle

4 Right triangle

Wp&BHMeID ABC 60 AB =4 6)&.15., BC =5 61&.15.,
CA=4 65.15. eevflled g @

1. OIFIDLGES (LP&GSHTETTLD
2. FLOLGS (LP&HGHTEITLD

3. BHFDLUSS (LP&HGHTETITLD
4.  6\FRIGSHTEOT (Lp&HBHMTETOTLD

Two numbers are in the ratio 5:7.If their HCF is 3 then their
LCM is

Breti® erevniselett 60BHD 5 1 7 GEYD HHS
et6voT&H6rfledT LD.OWIM.&T 3 6T6vflen LD.&.LD.

1. 15
2. 21
3. 35
4. 105

The supplementary angle of 56°
56° 6o1 LewaBILIL] BsMetorid
1 24°
2 34°
3. 56°
4 124°



104. ABCD is a rectangle. If AC = 10cm then BD =

105.

106.

e\FeususD ABCD 60 AC = 10 6)&.15. erevfled

BD=__ 6@&.b.
1. 5

2. 10

3. 15

4 20

The value of polynomial 2x* —3x+2whenx =—-3
x=-3 eTeqIDELING| 2x” —3x+2 6163TD LIOEYMILILIS
Gamemeuudest LDSLIL

1. =25
2. 13
3. 17
4. 29

The ascending order of the following is

SpsaenLeubniest ermjeurflens

A. 3% + 27
B. 3?27
C. 3% x 2?

32
D. 5
1. B,A,C,D
2. A,B,D,C
3. D,B, A, C
4. C,A,B,D

cm



107.

108.

109.

Number of factors of 1001
1001 eo1 &mevflaerfledrt erevorevoilSHEmas

3
5
6
8

b=

The mode of the data 5,6,5,6,3,2,1,5,6,2,61s
56,5 6,3,215,6, 2,6 etetim efleugsdest p&H®

1. 2
2. 5
3. 6
4. 5,6

S5x+ % = %x —14thenthe value of ‘x’is

3 . . .
5x+%=5x—14 éT6ofleL “x” 60T LD£LIL|

-3
=5
3
5

b o



110.  Which of the following is TRUE?

111.

112.

SLDSHSHETTLOUDNINED EIDUISHFMDD)
36045 <30154

12121 > 121112

200202 > 200240

500811 > 500611

Sl .

In a bar graph, 3 units long bar represents 15.6 lakh population
then the population represented by 1 unit bar is (in lakh)

Q@ SN CUDILLESED, 3 HOGSSH6T [HemIpemLU
&L 15.6 G6OLFID REVSHEIGTENSHMU SMSSME|
er6ufled 1 oG Bem & GMILAGLD
RES6\5TeWS (6oL Fhis6rflev)

1. 5.1
2. 5.2
3. 5.6
4. 5.8

1 : 1
Ifx+—=35 then value of is x* +—
X X

1 . | B .
x+;=56|‘60‘ﬂ6\) x2+?66r LDSLIL |

1. 23
2. 25
3. 27
4. 125



113.

114.

Identify the non perfect square number

APEUTSHBID V6O 616001

1. 324
2. 361
3. 441
4. 449

The scale of a map is given as 1 : 60000000. Sonu measured
the distance between two cities in the map as 30 mm. The
actual distance between the two cites is (in km)

@ euenIULSHer g Dlerey 1 : 60000000 erevt
QHMBSHSLILILB6TeNg). cuemILLSHH0 2 6iTerm QRrevor®
BEIRGEDHSHS eWLULLL S 30 .15, etesr
Qaner) SHebGeT eevfled Sbs Brevor®
BEIHIGEHHS DeWLLULLL 2 65orenld G (B.L5. 60)

1. 2000
2 1800
3. 20000
4 18000



115. ‘Explaining the Mathematical logic’ is related to

1. Problem solving

2. Reasoning and proof
3. Connection

4. Communication

‘Gewlls FHHH5MS MeTeEESH60  66iLg SSHenIL 65T
C\SITLITL|6MLWIG)

1.  p&semenr Sit

2.  &SMJewid Samised LMHMID BepLilsseo

3.  6WBMLTYUBSHS!SHE0

4. SBHEUELH6IT

116. Among the following is not related to “Good mathematics

Textbook”

1. Problems must follow the order of Difficult to Easy
2. It must enhance their social and cultural values

3. Practice sessions must be placed for evaluation

4. Enough practice exercises for self-assessment.

“dipg SH6wile LMLLLSSSHID”  6163TLIG]L 60T

O\SMLITLIEL60MS )

L. Npsgemevtudedt eurflenapewm &ligeursHedlHbS)
ererflweudnng Siewmwbwl Geusvor(BLD

2.  &eps LHOMID SHEOTFSHTT LDSLILSHEWET
SiPsifes LD eNg5H60
SH6emLDWIG6U6TIT(BLD

3.  wduStemans Wer LD 2 sitemeummy
SlembuwIBGeustor(BLD

4.  swwSIRHG CHemeuwimenr LUIDASHET
w5 Geuetor(BLD



117.

Characteristics of Inductive Approach are

a.
b.
c.
d.

c

Formulated from the examples

Continues from the concrete things to abstract things
Generalization by doing experiments or Observing
Tests Formulae / Generalization / Conditions

From abstract to concrete

Ssitenaupmleo efldeurd NemIGpenmuest
SEOTMTHFWIMRIGET

a.

b .

TB58I5HM BTN EHHE &SHBILDNEGSSHE0
[HEWLEILIMILD

LLOLnefledmng smuaLmmaiihe
E\SITL(HLD

ufGemsemenaeT DH6veog 2 MHMIGHTSHSHE0SH6IT
C\FWIEUSHEIT CLPEOLD GILIMGIEMLDLILI(BS &|E5H60
Baid

&SSTDNSEGSE0 / OWLNGIMLULGSSEO /
BUBSemetTaHemeT CFTHLILISTS HeWLDULD
smUOUMThefledmba LhBLOLITHEHHS
E\SITL(HLD

b,c,d, e

a,c,d, b

a,b,c

a,b,d



118. “Where there is thythm, there is a number” is stated by
1. Adam Smith
2. David Weeler
3. Plato
4. Pythogoras
“ @056 (E@E0IBWILD) 6TMhIG HWDBMCHT, DHhiE 6T6v0rT
SNeWDW|LD” 616018 Famlieult
1. SpLLD 6vLiG
GLeflL. efieoiT

e G

Ll

s &Ien

119. ‘APeKX’ stands for
‘APeKX’ 6t1 efifleun&aLp
1. Andhra Pradesh e- Knowledge, x-Forum
2 Andhra Pradesh e- Knowledge eXchange
3. Andhra Pradesh expert key persons exchange
4 Andhra Pradesh exchange e-knowledge

120. Meaning of the terms ‘Heurisco’

‘Heurisco’ eT60Tm 61&mev60l6dT S\LIMIH6IT

1. I support
2 I find

3. Ido

4 [ know



121. When you measure the length of an object, the reading of the
scale at one end 1s 1.2 cm and the other end is 3.6¢cm, then the

length of the object is

1.

2.
3.
4

4.8 cm

2.4 cm
3cm

—cm
3

o ounwmefler Bersems HemeflBLD GUTE SieTey
Gamedlett @ (pewestulesr lemeli® 1.2 61&.L5.
LDHODM(H (pewestudesr el 3.6 61&.15. erevfled
bzl e herfledr Bermb

1.
2.
3.

4.

4.8 6\&.10.
2.4 6\&.1B.
3 e\&.LB.

1 6O\&F.10.
3

122. Magnetic effect of electric current was first observed by

1.

2.
3.
4.

Faraday

Oersted
Maxwell
Volta

etTGevTL L GPevrmed [BS(DD &NBS 6flenemene
WPS6TLpSe0led severllss Mleuled Sinflehit

1.

2
3.
4

urgGL
OHTEEILL
LDIT&H61616160D

GeurmeoLm



123. If two unequal forces act in the opposite direction of an object,
the net force acting on it is equal to
Sum of the two forces

1.
2. Product of the two forces

3. Difference between the two forces
4, Zero

@ ewungmeflesr 5g Quevor(® FWwWHM eflenaseT

aHosn Hemgued OFwWeOLIGLD CUGI, AL

ewngpefler g QFweOLBLD 6WDNss eflens

L. Quevoi® eflemsseflett EIDMTSSLD

2. Srewi® eflewsseflei CILIHSHSHMLIEOE)SHES FLDLD

3. Breoi® 6flemFHEHSHBMHLEW 2_siTerT
eflsHuinsid

4. Lpe3ewILD

124. The fossil fuel used to produce thermal electricity is

1. Coal
2. Coke
3. Coal tar

4. Petroleum

Slevtev LetTENID Swimflés LwedTLBD LIQLD
eTflOWImperT

1. [Beosail

2 &605Ifl

3.  Beossl smr

4 e\ GomedSlwid



125. 99% of air 1s a mixture of
1. Oxygen & Carbon dioxide

2. Nitrogen &Water vapour

3. Nitrogen & Hydrogen

4. Oxygen & Nitrogen

STOMI 99% EUDMETT 560606

1. Op56r0lzR63T DHMILD  SHMTLIET-6DL - Dp5606r0B
2 6D[BL Je260T DHMILD Brmes

3. EOIBLIE60T LDMMILD EDEUDL TER65T

4 Op&6r0lg260T DHMILD EWIHLTER60T

126. Find the Parasitic Plant
1. Pitcher Plant
2. Drosera
3. Mushroom
4, Cuscuta

’

SLD&SHETTLHNEL “@L (Bevorevoll FHTEUTSHENS

1500 09 [15Y:5C)

L. LET sreurLd

2 LGome\gmgm

3.  [BMUSGEDL STETT6o
4 STV LLIT



127. “Suicidal bags” of cells are

1. Ribosome
2. Lysosome
3. Centrosome
4, Vacuole

61F6VEVIEIT “ HHEVHTEMEVLIEHLISEIT” 6T60T

OIS SLILBLIEDEY

1. eI CLITGSFMLDSHEIT

2 6m60BFTBSHTLDS6IT

3. 6\Feo1L- GomBG&mba6iT
4 6)IMT5GB6u6D

128. The organism that pops out its stomach through mouth is

1. Starfish
2. Jellyfish
3. Amoeba
4, Snail

amieupwng eulpnlener eueflCGwibmid 2 uliflesrd
1. mLesdy Lbedr

2 612360601  LD6BT
3.  Oubum
4

bSHE0S



129. The excretory organs in Nematoda are
1. Renette cells
2. Flame cells
3. Nephridia
4. Green glands
QBLGLILMSs6etT@_heweTw) seybss 2 miiL
1. C\T6OTEOTL.  6\FEDLS6IT
2 GLIT 61&60561T
3. QB SsLifiQuirm
4

ugFems SILILNG6T

130. The chlorofluorocarbons are not released from
1. Burning of tyres
2. Refrigerators
3. Aerosol sprays
4. Air conditioners
&Cemn@ym LGemm@rm smiTLesTSH6T GeubmledlhHba!
aeuefiGumieug Geoemeo

1. eoLWITSemaT enfla@ Gumg)

2 SefliTengeol QL ie&erT

3. SNHNISHEDITFE0 \G6erfILILTEITSHET
4 SerflepL & 61T



131.

Match the following

SET-A SET-B
i) Dogs wave tails a) Tactile communication
11) Cats rub against objects b) Auditory communication
ii1) Monkeys groom each other  ¢) Visual communication
1v) Wolves howl d) Chemical communication
SLDHSHEVLEUDEDD S IMHSSIS.

SET-A SET-B

i) mEMUE6T auteom (Beukhl  a)6MHTBIHEO eLPeVLD
i) LysoeotEeT LB s6fledT b) GHLLED cLpeOD 2 6voTie)
iii) GOThASS6IT €26TTEMINELLITEI)] C) LITTEW6Y eLP6OLD 26306

iv) eEmissT 2emsmeuiBeus  d) Gaud 2 svomTey
L (R 5

1. 1-a, 11-b, 1ii-c, 1v-d

2. i-b, ii-c, 1ii-d, iv-a

3. 1-c, 11-d, iii-a, 1v-b

4. i-d, ii-a, 1ii-b, iv-c

132. The work that involves any skill to get an income is called

1. Profession

2. Hobby

3. Service

4. Volunteering

aGsend Hmest OSTLITL 6T Geuemevudett eurmuileons
QLMD EUIHLDTEITSHENS BeUUTM)] SHeWLPLILIT

1. B MLPled

2 LILD&&EULPESLD
3. Goemen
4

Setreviey Ggeme



133. The State that does not have boundary with Madhya Pradesh is
1. Maharashtra
2. Gujarat
3. Jharkhand
4. Chhattisgarh
SSWLIINTCHESHILETT 616060608 GHITL 6L
C\GITEVOTIQIHE&ESTS LDMIHEOLD
1. LDSITIMEQIQITT
2. SRS
3. ZRMITESHETOTL
4

FHHEIQBIT

134. Munneru is a tributary of

1. River Godavari
2. River Krishna
3. River Penna

4. River Nagavali

wpeiiGeui@h - Bbg BHUTeT SHewen B
1. Gansneufl mH

2 B([HEQ6WTT HS

3. 6WI6OTETT [hS)

4 BT&6U6060 B



135. The port Lothal was situated on the shore of
1. Bay of Bengal

2. Arabian sea

3. Indian ocean

4, Red sea

Geonge0 FHEMMAPHLD S SHLE6T HMTEUINTSSH60
SIEWLDIHGIETENS)

1 aumisner eNflGLT&HSL60

2 NTLN55L60

3.  SBIHUL QLGRSO

4

6\FTRISL6D

136. The capital city that has an ancient name of ‘Ekasilanagaram’
is

1. Madhura
2. Dwarasamudra
3. Orugallu
4 Devagiri

“I&E160M [HSILD” 6T60TMH LILPEWLDWIMEDT GILIUIEDTE

C\SHTEVTIQMHHS SHEWEOIHSHITLD

1L DG

2 ST SAPSSIT
3. QMpEH6Oa

4 Gxeudifl



137.

Identify the wrong statements regarding the British India

1. Warren Hastings was the first Governor General of

British India in 1773

11. Lord Mountbatten was the first viceroy of the British

India.

1.  “A History of British India” was published by a

German economist James Mill.

iv.  In 1946, a mutiny broke out on the ships of the Royal

Indian Navy.
rfiiesle SpSuwineflhE FOLIBSLILILL SeUDIT6OT
FQDMISHENET SH6ETOTLMIUISLD

i. 1773 e LflLiesiy @pHwimelest  (pseoMEUG)

SHEUTETTIT 61Z36BTT60  EUMI6ST GaUDeEiQIErhiey

i Arfltesle pHuimefledt (pHEOTOUS  EMEUSTVTTIL

oeyevor”. GuiLedt LAy

iii. Gggbev LSIEL eTEITEWILD 6IZRMDEDN  EIMHETTSTT
Byevori,  Wfliesie  @pHwimefledt  sugeonm)

ETEIEDILD L|5555608 eeuerfluliLm

iv. 1946 ev, gmwed QEHU SLOLEDL SHEMSHH0 R(H

Pl Beigd] HEOLOLDME)
i, i
i, 111, 1v

W N~
—
=
=
P



138.

139.

Find out the mismatched pair related to Indus Valley

Civilization

1. Main occupation  — Agriculture

2. Major entertainment — Wrestling competitions
3. Port — Lothal

4. Main God and Goddess — Pashupathi, Mother Goddess.
dibg  Fweeuefl BIHIHD  OSMLILDLW, SHeUDTS
OUMHSSLILILL SeWetoTen &H6uoTLMILILD

1. apsdw asmded - efleusmuid

2 WPSBWIDTET OUTWSICLNSES - GSHF F6uoTemL

3.  SEODHUPSLD - Geormsev

4 WPSBWIDTET  SHe0T  6\GWIEID LDMHMID  GILI6ToT

QGWIGUD - LGS LDMMID SILDLDEBT

The continent that lies completely in the western hemisphere is
1. Australia

2. South America
3. Africa
4, Europe

GHG SNWICHTATHHE0 (LPLDEMLDWITS SHeWLDIHFHIETET
S600TL LD

1L SpevdGredlum

2 615601 SHEWDHlGESIT

3. O Mflsam

4 G



140. The India’s first satellite was launched in

SbAWMefledn (pSHeoTeus SFWHENSSEEHTET 61FYSHSL]

UL Op6001(B
1. 1974
2. 1975
3. 1979
4 1985

141. The 9" goal of Sustainable Development goals is

1. Reduced inequalities
2. Industry, innovation and infrastructure
3. Decent work and Economic Growth

4. Life on land
Bemeowinest euermigSluilest QevsGs6rfled Ieug Bev&S

1. &WefleiTemDHEMET GEMMNGSH60

2. 6MPh&Teme0, SHewIBLIIESSH6 LDHMILD
SlQLILIEDL.  EUFSG6EIT

3. Q\&enLDment Geuemed LDHMILD GILITIHETISITT
GUETITES]

4.  pSlufest LOSMEdT 6UMLDSHEHS



142.

Identify the false statement regarding the distribution of
population

1.

4.

Many more people live in the north of the equator than
the south of the equator

Eighty percent of the world’s people stay in just 10
countries.

Almost three quarters of the world’s people live in two
continents, Asia and Africa.

The distribution of population in the world is uneven.

LD&S6T O\FMemaUlledt LIMhSEG FDWDBSLUILILL  SeUDTEoT
gaMenm  &HeuorLMuieLD

1.

LpLDSSUI Cremsulest  O5MHG - LSHemW
SMLIEeYId, eI  Cremsulest QLSS
LGHUTEL HSSLDTETT LDESH6IT GUMLPSEITMEDTIT

O 608 LDG&HET EFHTEMHUNED 6T6UTLIEH F&H6HGLD
Gurr, 10 BT@Bsefled WLBEWL eumLpdestmentit

2 608 LD&ESHET EFHTMSHUTET (&SI LSS
ID&S&6T, SpFwm  OHmId Spuiflsst  Spdw
Qi ® SH6evTLMIG6 60 eurLDSesTmeDTIT
2_c0g6rmeflev LDS&6IT E\FTENS LBISE®

FLDLSIGOTEMLDITS 2616
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144.

These were used to detect poisonous gas in the period of

Vijayanagara kingdom.
1. Dogs

2. Donkeys

3. Canaries

4. Camels

eflgwpsr TrRBusder Sl dssnesded el
EUML|SHSHEMET SHEIBESTETOT Remer LIWITLIGSSLI
LIL"L 60T

1. [BUWSET

2 &(LDENSHH6IT

3. Gaeurfl  LIMEmEUSHET

4

QL L SHBIHEIT

The percentage of Argon gas in the earth atmosphere is
Lplufesr  euerflDetorL60&H6L 2 6iTeT  DhITSHTET
eunwjeflest FF6isLD

1. 0.93%
2. 0.39%
3. 0.09%
4 1.93%



145. This is not correct regarding science

1. Scientific knowledge is humanistic.

2. Scientific knowledge is empherical.

3. Scientific knowledge is absolute truth.
4. Science has many values.

SLp&S&6vTLeUDNIE0 HnNeflwensoll OLINEBSS)

sflwneng S60eonSg)

1. Sieflwed SiMley er6tTLg D6vflsCHIWLSSSS)

2. Sinfleflwed DiMley 6T65TLS DIEQILIOILYTAILDITETS)]

3. Sileflwed Simey 6T63TLIEHI (LPLDEWLDUITEOT
2_6U0T6MLDWIMEDTS)

4. Sieflwed SCHS LLBLILGHEDET C\SHTETITLS)

146. These do not belongs to “psychomotor domain”
a) Imitating the drawing skills

b) Developing compassionate nature towards living beings
¢) Handling the instruments expertly and takes readings
d) Identifying the relation between factors such as energy
flow and energy levels
Bemer 2 6T BUISHEHID SFITHSEWEULIL6TT CVSHITLITL
Si6060MSHEM6N
a) LD euemwIujld &memet LIedTLIDMI6UT
b)2_uffleormiseflLD SHemesor ST (BgHemed
2 ([HOUTSHSS 6CISHTETEHSH6ED
¢) 2_LISI6EUTHISGEmET MSWMEHL SnCerm®
DaTeliBHemeT T(BS5SH60
d) Sphmed QULLD HMID SpHmed Beweo GLITedTH
sNrenilaEhsd SLCW QSTLITENL SiNnjlse0

1. a,d
2 b, c
3. a, c
4 b,d



147.

148.

The board that has transparent glass doors and is locked to
secure information is

1. Bulletin board

2. Felt board

3. Plastigraph board

4. Magnetic board

QML GLD SHETTETITY HFHEUSHEMT GIIDM)] HE&HEUOSHENENT
LITGISTLILING Lyl SUWIeQID LI606hs

1. QFWISL LI6OEWS

2 SEWI6OL. GUITITL.

3. Nemmervpdgmsl Guni®

4

SMBSL LI606DS

SOCAIL - METHODOLOGY

The chairman of national steering committee that
recommended National Curriculum Frame Work — 2005 was
1. Pro. Yashpal

2. Dr. Lakshmanaswamy Modaliar
3. D.S. Kothari
4. Pro. Ramamoorthi

Cal SHmEDSSIL  GueNsHIDLIL| - 2005 &8 UMfbgienn
Qews GCsdl aUfELESFHID GSWsien  gGemeoeur
L. GuOI. WeRLITED

2 LM&LIT. 60U &GLDEVOT &H6UML (LPGHEOIWLIMIT

3. DS e&ngsmfl
4

GugM. JMDELPISS



149.

150.

The general aims of social science do not include this

1. To explain human society
2. To promote world peace
3. To develop patriotism

4. Acquiring knowledge

gepd Jmleflwedledr QLmgeuresr ool FWmis6iT
BS6M60T E\SHTEVTIRIHSHHTE)

1 efls sepssams SMsHg sieuflgseo

2 2 608 SlewHemwl GLLDLIBSHS|SH6D

3.  BILGEUUDEDMD 6U6NMTSHESH6D

4 Sifflemaull EILIM|5H6d

The percentage of weightage given to the slip test in
Formative Assessment is

2 mansss Goieiled, dm GCoiasE RSISSLILILL,
LDBLIOIETT F&6HSLD

1. 20%
2 30%
3. 40%
4 10%



